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b. Write down the product formed in the following rection with mechanism:  2+3=5
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3. a.What is one of the mosl suilable oxidizing reagents for allylic alcohol 2+3=5
oxidation? Explain Why? Wrile the products with reaction mechanism of
the following reactions
MnO, OH MnO
Product ' =5 e R Product
DCM DCM. KCN
OH
b. Write down the products of the following reactions 2
Ba(MnQ,), OH ,
BIOdUCT S 0 L0 Product
= C
Water Water
c. Explain the Prevost’s and Woodward’s dihydroxylation reactions with 3
suitable examples
4. a.Write down the structure of product “A” and suggest the reagent ‘B’ for the 3
following reaction.
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b. Write the reagents of the following reactions and justify your answer with 2
reaction mechanism
O o o O
reagent reagent
A————r —_—
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